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BUS 310. Quiz #2, Fall 2018
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Instructinons: This quiz 5 te be compieted entire
only access internet resourees ye

questions directly on t%x}s pagsa. You must submit the Excel file yc

the Quiz #2 folder in Blackbeard, and submit the paper version of t

to receive fuil credit.

1. The amount of ojar value and dwelling type is sampled. Co
the type of homg one lives in affects the vaiue of one’s ca
hypotheses, tesﬁ: statistic and P-value. State the conclus
bexplot to confirm your results.
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heighborhood they reside in. Construct a pivot table to cc
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table to conduct a y* test for independence, state the nu

statistic and P--v?!ue. State the conclusion of the test.
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The data set on §heet #3 contains credit

Conduct a two-sample t-test to determine if there is a differd

those that have ’fpried, and those that have not tried the p
hypotheses, test statistic and P-value. State the conclusi

or independent?
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On sheet #4 of the data file is data on cuts made, number
earnedina s-ea;a@’x of golf. Predict the amount of money
your regression analysis using both variables with and wit
regression equa‘i’iun of the twoe models and the Multiple
Give rnore fihan pne reason.
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v inclzss. Youn ‘ay
w are specifically directed to usel Gb
file posted under Quiz #2. Use it to answer the following questio

The data set on sheet #2 contains measurements of wheth
ympere the categorias. se the pivot
Il afid alternative hygothases, test

xcel filz to Biackboard, and submit your |

pot use cell phones, and you may
to Biackboard and open the data
s
sed to perform calculations into
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odlct. State the aull 2nd alternative
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Birclies, and amount of money

the other two variables. Run
the constant. Write the best fit
alue. Which model is botter?
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